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BUTEX Admission Test 2003-2004

0l. :~:=—1+i\5 T X +4x3+6x2+4x+9 qG7 N1+ ey <1

FAGE: X = =1+iV2 = x+1=iV2 = (x+1) =22 x2+2x+3=0 ..x* +4%° +6x* +4x+9
=x2(x2+2x+3)+2x(xz+2x+3)—(xz+2x+3)+12=12(Aﬂ5-)

02. ‘ﬂﬂ“xz—bx+c=[}quz—cx+b=0ﬁw§ﬂﬁmﬂawmﬁaﬁmwmﬁsﬁmﬁ
A, b+c+4=0
T X' —bx+c=0 @37 o ¢ B @@ x*—cx+b=0 97T o +k=v @ B+k=35
So+f=bjaf=c a® y+5=c @ y5=b
SR, Y-o=a+k-f-k=a-B = (y-8)’ =(a—P)* = (y+8)* -4y =(a+p)’ —4ap
=c’—4b=b*-4c = b>—c?=4c—4b = (b+c) (b—c)=4(c—b)
=b+c=—4 [b#c ®% (b—c) Fwsrt] ..b+c+4=0 [Proved]

03. y=2x +1aR2y — x = 4 GITEH oS @IER TR y-TF P ¢ Q e (& 7 | PQ 7 vg s

ATy — 2X — 1 = 0 @R 2y — x — 4 = 0; (Il ANRAGFT TR2el-
y—2x-1__ 2y—x-4

— =+ — = y—-2x-1=#QRy-x-4)
V12 +22 V12 +22

(YE XA, y—2Xx—-1=2y —x-4=y+x-3=0 :%+-§=1;’1T}’W(0,3)W@Cﬁﬁml

YT WA, y—2x—1 =-2y+x+4 =3y-3x=5 . XVJF;_—_];‘:IT y THE Q(D,%) e cn s
/3 |

~p=(0,3Q=(0,%) PQ-s7@®= /(0-0)*+(3-5/3) _ ([;T =4/3  (Ams))

04. (2, 3) FaRRE 38 Tw e P F e ed e a9 | galbT y-oier ofee ot ug oy ffr o |
T &5 (2, 3), FUaR T = | [ |
L x=2P (-3 =2 X - dx+4+yY -6y +9=4=X+ Y2 —dx— 6y + 9= (Ans.)
y S 20O Sfoo oyl OF AfFl, 2\/(3)3—9=0 (Ans.)

05. A4 g 39 ¢ x/??sinﬂ—cosﬂ =2

A \EsinEl—CGSG=2 = fsinﬂ—%cnsﬂ=1 :smecns%_cgsesin?ﬁ:l

4 ﬂ.' TT T T T
- G m— =1 --I 9'—_= 4 +]. — I.le= 4 +]' _+_ Ans-
=> sin| O 6] p (4n )2 (4n )2 c ( )

\

06. (a)* WPefarTa 4= ford a3e omie 57|

d
(b) y = (tanx)* + X" =T, é R |

BT | |




BUTEX epgamess

07.

08.

1@ ¢

' o 3 TN

TTRIGE: (a) MRl g f{x) A X 97 QT T ZE, TE x 97 e o AR, T =few a3
ﬁ?m%wwamﬁamm%mmmwwwﬁwmm,w

fix) = RO)+x f(0) + __r'(o) ?T-f”'((})+ ..........

2T Wﬁ*ﬁr, ﬂ:‘..) = Qo + a;x+axx +a3x3+a_4x4+

TR SR 0 AR, £1(X) = a1+2a:x+3a3x+H4ax +
f'(x) = 2a,+2.3a3x+3 424X "+.........

amet, £1(x), £Y(x) Tenifiy siorm afefore x = 0 =,
1{(0) = ap, £(0)=a,, {'(0)= 2!a,, "'(0)=3!as...........2SS SFH,
dg, a1, A2 ..., GF T (1) TR @ Fo| A g,

f(x) = £(0) +xf"(0) + X £"(0) + X £'"(0)..... + X go (0) +.......
2! 3! n!

f7'(x) = 1.2.3a3+2.3 . 4a4x+........

f(0) =nla,

(b)Y':(tElﬂx)x'l*)Ltanx :>y=exln{mn:}+etmxlnx
--'g“x)l"(tanx) {]n(tan x)+x.tanx.seuzx}+xm" {%+h}x.seczx}
: 3
-di=(tanx)x {1:1 (tan X) + x}+x‘ﬂ"“{tmx +1In x.sec’ x} Ans.
dx sin x X
100 b SET @FC ¥ 90 I YT (§uy JoT 7 | ey T e TAGECT 45° 8 30° @i WS |
R B AT 4 |
AAMYI: NG ST TA FCT A2,
T _ T, 'y 100
sin (60° +90°) sin (90° +45°)  sin(180° —60° —45°)
o1 =350 60-51.764 fb—wt (Ans))
sin 75°
_ sin135° A
nT == x100=73.21 fb—wt (Ans.) 100 1b
© sin75° —
. m/2
A AT e (i) _[ (14+cosx)?sinx dx  (ii) _[ 1xiex
0 N, \/(x +3)
/2 _ 1 =
AMYE: (1) r (l+uosx)zsmxdx =—L z> dz Let, 1 +cosx =z
B 3"1 - -
v/ 1 8| 8 1 7 (Ans.) " . x |0 w2
=] —| =————|=E———=— . SInx =_dz ! |
_3_2 '3 3] 3 3 3 > |2 1
S Txdx 7 Fdz 7 3 = _ dz
(11)_[ = =L J'_=_[2\E]§ Let, x"+ 3 =z = xdx =
J(x. +3) 2 5z 2
o7 2 |5
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09. mmﬁaﬂmﬁﬁmwﬁmmﬁmmw 20ms™ fir.cr. TR o Fiee I T | 9]

T R 2ms™ TR0 ST ey At e | o T fifere 77 SwAf® T 9
quﬁ.twmﬁﬁ-@mﬁﬁmﬁmmﬁm@w=zm

WWWWLl- x2xt! =t?

i-

2 20t =" =84 = 2 20t + 84 = 0 = 2_14t—6t + 84 — 0= (t-14) (t-6)=0 .. t=14,6.
R SRR 6 @7, 7 e wfowmy 3309 | &[T 14 6 o7 3R AR WAL AT T |

10. 200 S 1w 07 40 T W, 20 7 AR @@y 10 & Sow REw G I | G AR T %
CT T (9 108 AR =irt 319 751971 777

T SYTRT T T 1 AT 72t = 40 — 10 = 30

M S
30 3
~200 20 (ABS)

11. aﬁﬁrﬁﬁwﬁWTZﬁmﬁﬂw4ﬁﬁm314&%@%%%%%&%&@

RIS A== wwret ffy | e
WWW=T|=Z;=SGM é’—
A | n
FAE WeT = ar’h = n(2)*x7.2 =90.47x10° Litre — _
7 AR AT ST =90.47x10 kg [ 1 litre =@ =7 = 1 kg) A = 2nrh
W _mgh 9047x10°x9.8x3.6 - *h
LP=—= - =1.69 kW (Ans. M
£ T 31.4x 60 Az}

12. 20m@ﬂﬁﬂﬁ@ﬁ%%mwaﬁﬁﬁﬁwmm,ﬁw@wwwﬁm
22m/s | FEI0 R OIS TZCS PO (@0 1GIToRE?

TV = 1w’ +2gh =u’=v’ —2gh = u?*=(22)2—2 x 9.8 x 20 = 97
S u=959m/s (Ans.)

13. fAfe e faet Piféme 8.5°C R I Sroiar 18.4°C | Sitrefire wwer iy o | 8°C, 9°C, 18°C @ 19°C
ST A4 Ir=2i51er TG 8.04x10°m, 8.61x10™°m, 15.46x10°m 16.46x10°m =ifaw |

AR o SEeTR =%x100%

(9 - 8)°C mﬁwmm AffST= (8.61 - 8.04) x 10™m = 0.57 x 10~°m.
. Biffraies a1 8.5°C @ r~otet, £ =(8.04+0.57x0.5)x10°m =8.325x10%m
18.4°C @ 3r7t+, £ ={15.46+(16.46—15.46)x 0.4} x10>m =15.86x10~ mm

_ 8.325x1073
. R= ~
15.86x10

R s §

x100%=52.49% (Ans.)
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285K St @ 100 kPa ST 20 m’ SISTHR «=F S{RaeiRes SIPLe Zote T 0.5 m° SHes 7egoe T4

&

14.

T, TN SEA@El @ o T2 (G AT Sew w0 y = 1.67)

v. Y 20\
syE: BV =P,V] =P, =P x[—') =100x10’ x[——) =47.363x10° Pa (Ans.)
- V, 0.5

v Y-l 20 1.67-1
WRE. T,V =T,V = T, =T % (V—') = 235’{%} =3374.62 K (Ans.)
2 L

15.* 558°C oy @ 2.2 IR oieet e sinet <t @t e w9
[R=28.31JK™ mol™ u=x Rfmom am s s34 a3y = 1.66]

RT
T v |1 W,PM=::1RT:::—E= - [ T=558+273 =831K]

d
e {T;T =\/l.66x3.31x831 _160286ms”  (Ans)

4%10™
16. ¥ 3w 6" 6amp — 220 Volt f6fFe Tt itz | F@ew=t 60 watt @7 fS @ AT AR ALY T

<4l qI?
sogE: P = VI=6 x 220 = 1320 watt

. QIS RN, n = P = 1320 =22 (Ans.)
60 60

17. 0.5 mm? csags @2 0.1m MIHT 36 OMiT SiEd grifie st 25°C 1 I 99 745 fea 10A sfor
RIS T SR S TS ©F 9T T T A N (SIE 679 9x10°kgm™, SieetfE vt 9x 1072

4200 Jkg™' °C™", s171IeE = 1075°C, @rie® = 1.6x107°Q —m).
m ™, p=1.6x10"Qm

4t oredt omeg, A =0.5 mm? =5x107"m?, 1=0.1m, d=9x10’k
-7 =Ad =4.5x10"kg
S=9x1072x4200Jkg 'K~ =378 Jkg" K~

-8
L @Y, R=%=1'6;1?0_>:0'1 =3.2x10° 0
X

AB  4.5x107*x378x%(1075-25)
msAO=IRt, I=10A = t="m— = —558.155 (Ans.
maGi=S I’R 10 x3.2x10° = (Ans)

18. “FE T SRFS G ST TH IS ST 7B fifem Tolfieir Sefes =g | afsstad @i 42° &
wrered (@l Fo? [“ifNe afevi 1.33]

sini  sini
T T L = P, =—— =
wHha = o sin42° B, sin42

sini

] sin 1 il .=sm42 05031
1.33

. i=sin (0.5051) = 30.2° (Ans)




urex s 1 e | ST

19. e SZPUSHT 30 I5T TOT 2.4x 108 ms™ @0t RN SRMFEINITT BTG RPN SpTHCT CTETT AR 50 T=7
[ [T QT | RIS ACATF SR T ©IT F© A7

2 8\
YA t = o = =>t°=t‘}1._(i) =50.[1- 2'4;(1?) =30
[v]- C 3Ix10
1—

—

c

;. TRIFGIRE FACHTF O 999 =30+ 30=60yrs (Ans.)

20. 0.3T o GINT CFER T ey «of SedT 105m/s ot oifeser | qoote Sfed o1 CFUas ¥ 91w |
TR TF 4 I fifr o9 |

B
FTIRI: TCEWR TF &7F 39, F=q(V x B)=qvB sin6 L
s F=1.60 x 107" x 10° x 0.3 x sin 90°

=4.8 x 10" N (Ans.)

21. IR Gt T3 Fighe GNeTe cewee 3w [T (s 8
(a) N(7) (b) Al(13) (c) (26)

HAATYI: _li 28 2p
NO ] ] [T
1s 2_5 2p 3s 3p
ma) [ [ ] O
Is 28 2p 38 3p 3 -

Fe26) L1k L] [ v ] el a Tl [

22. e (AR RS0 ARIAE ARTAWE ieda T Agenz ford ¢
(2) T ST (b) =T AT (c) FREFT wr=HZE (N,0)
A (a) I WEAHEe (CO)  (b) @areaw (CHCL,) (c) [T /TE (N,0)
23, a6 O ™ FH 7.6x10° ‘”ﬁwﬁsmﬁwﬁmﬁmnwﬁmoﬂcmﬂwmwmmqw?
Ty P=7.6x107"" mm=10"2atm, V=1L, T = 273k
PV 107"x]
~RT 0.0821x273
=g AT = 6,023 x 107 x 4.4616 x 107 =2.68 x 10'°% (Ans.)
24, wiewe o4 8 ()W @ (b) friET wme  (c) s

ng: (a) (O)— N=N-{O)-NH,
(b) HSO; (O)-N=N *@N (CH3),

=4.4616x107*

() <O>— N= N—@—Nm
T e ————




25. VYN I3
(a) (7 3T w7 Tm= R WO, e e wfve zo sis 0 |
(b) SIFIT ST STINIAT @ BICS ICHET @ BIFHTTa I@aq (T BT |
(c) d-S<orTET A EEH Y To! o1
(d) TS I AN NG FAFNE 91 T |
(e) =it SRR T @ 5 AT T o THT I |

(f) NH; c@ivie wighs I

T (2) R ) sd (€) 10 (NO3 (@) m (R)  (f) R fraifire wigre |
26. Toge Riatets seig <9 3

(a) 580,(g) + 2KMnO4(aq)=? (b) 4FeCl; + 3K4[Fe(CN)g]=? (c) 2Nal + 3H,SO4 + MnO,=?

sTYE: (a) 550, (g) +2KMnO, + 2H,0 — K,SO, +2MnSO, +2H,50,

(b) KFe [Fe (CN)g] + 3KCI

(c) 2Na HSO4 + MnSO4 + 2H,0 + I
27. TgfEfe arifte saessEt aEmafae T & ¢

CH=CH-CHO COOH SO3NH2

(a) | (b) (©) (d)

COOCHS CH30

5 | 3 2 1 )
(¢) CH,-CH,-CO-C=CH (f) (CH3),—~CH — CH, — CHBr — COOH
TryE: (a) HRIZE A0 (b) PrmEfEzEs
(c) 2,5-u12 farfy @i affTe | (d) 2-Methylbenzenesulphonamide
(e) TH5-1-T12F-3-69 | (f) 2-@e 4-fiige B afFe |

28. ANAINE T =9, 6 90 T4 8
(2) SHIRET, <fE M @ @IETFeR FIT T8 F7CT |
(b) ST =zt SHEFRECS e H2S 04 71R 140° @7 SIiaty & AT |

(C) SETS=LE TG FAC |
NH2 NC
AqIYIH: (ﬂ) @ + BKOH{aq] + CHCl; {ﬁﬂ;’:’g}“c )@ + 3KCl + 3H10
100°C
(b) CH; — CH, - OH + H,S0O4 > CH; - CH,HSO4 + H,O

CH, — CH, — HSO, + CH; — CH, - OH 140°C_y CH, - CH; — O — CH, — CH; + H,S0,

(c) HsC — CH - CH, ~CHO — & fCI s CH; — CH = CH — CHO + H,0

|
OH crotonaldehyde

29 s Crle @ Fr-omrwE & 3 @it 303 ¢ Na, Mg, K, Cu, Ca.
satyt: Na-Sege ermmet zaw; Ca- 009 T #119; K- iy @& Cu- SrEre e € Mg (@iF 99 (i =)

IET. | v




30. FRER «fdadT crdne ¢ | - R

(2) O STETFIR (AT B | (b) WifidT e e S | (c) TEmmifas Ut Sarifer |

t4: (a) CH; — CH — CH, C0.300°C S o1 _ ¢ — CH, + H, 1

| |
OH 0O

(b) CH3COOH+Ca — (CH;CO0),Ca  (CH;CO0),Ca —=35 CH;COCH;

(c) CH; - OH CHO
| |
CH-OH XHSO: , o4 op,0
| a1, PO || (STTRfER)
CH,; - OH CH,

e

31. Correct the following :

(a) I have a business. Ans : I do business.

(b) He gave false witness. Ans : He gave wrong witness.

(c) This 1s ship of the tongue. Ans : This is a slip of the tongue.

(d) He bought some fumnitures. Ans : He bought some furniture.

(e) This question is alternate to that. Ans : This question is alternative to that.

32. Fill in the gaps with the correct form of the verbs provided :
(a) Alva Edison was (be) an American scientist in the 19th century.

(b) He possesses (possess) a scientific aim.
(c) Even in his boyhood he showed (show) great interest in science.
(d) This interest led (lead) him to tremendous success in course of time.

(e) He made (make) many of the great inventions of the world.
33. Translate into English :

(a) TSI IRET @ | Ans : He resembles his father,

(b) ear e ST GFIET A ARCS(ZT | Ans : Thad been singing a song before I ate.

(c) M= T (ATF T ©OFF FIefFaie | Ans : He turned his eyes from the scene of accident.
(d) Q4T ST AL T AR HCL | Ans : Now I have interest in reading,

() T TG Al GBT TATE AT | Ans : It is the right time to start a business.

34. Frame sentences with the following idoms & phrases :
(a) Fair weather : It was fair weather, when we started our journey.

(b) On the eve of : On the eve of the liberation war he left the country.
(c) Flesh and blood : No flesh and blood can endure it.

(d) Make up one's mind : I have made up my mind to make a good result.
(e) In high spirit : He started working 1n high spirit.
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